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Solve for the indicated side of the right triangles: Seg 7 68 Tube
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Geometry Name
Pythagorean Theorem Legs Date Period
Find the missing side of each triangle. Round your answers to the nearest tenth if necessary.
1) 2)
8 mi I3f
* x
10 mi 121
3) 4)
15 mi 4in
X
12 mi ¥ 5in

5) 6)
: Ve
&
= A -

Fal



7)

11)

hY
33

10)




Name

ACTIVITY 34
~ T I~ -I- ,’T\- % ES | Right Triangle Rule
35 1 10 | 200 | 24 | 26 | In a right triangle, the square of the
AN AN PN P ‘:*/ AN ‘i *\ length of the hypotenuse (longest side)
*\\ , fT\\ ,;-r\\ R AN DR R ,," equals the sum of the squares of the
'30\ | 24| 24| X% 3¢ lengths of the legs (shorter sides).
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T.\\ _/*\\ /*\ /*\ /#\ ,"ﬁ\ rﬂ B
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L”’ N ,z \ki \\ , AN L \\ ,/ . \\ hypotenuse
T S/ S \‘,7:'/ V‘B I N R ”7 a =73 units
112 \\ ‘:26\\ ,f \.‘ ,/ s\ ;,M\¥/2Q\¢ :
,"r\\ (;‘k\ Rd B ,x‘\ k- 7 C b = 4 units
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A | L 30| e | a5 | 2 In triangle ABC, ¢* = a2 + b?
SN P SN B SN G =3y
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20 | 40 | 38| 7 | 26 ] A =25
Y I S Y AN ~ b ¢ =V25
Find the length of each hypotenuse. Refer to the Table of Squares, if needed. € = 5
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90° 20 b=12] \°
a=6 a=3
c
¢ | 90°
a=9
‘ a = 12 units a =10 units ' a =135 units
b= 16 units b = 24 units b =20 units
c=_7 units ¢=_7 units c=_7 units
Find the missing length of a leg. Formulas: a=Ve? -0 b=Vc*-a*
b =24 units . a =15 units ‘ b= 16 units
¢ = 25 units ¢ = 17 units ¢ = 34 units
a=_7 units b=_7 units a=_7 units
Find the missing length if each triangle is a right triangle.
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